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1. 	Expand the following : 	 1x5=5 

(a) BASIC-MR 

(b) CAP 

(c) VAPS 

(d) IEP 

(e) FACP 

	

2. 	Write the answer of following in / or 2 lines : 2x5=10 

(a) What is IQ ? 

(b) Developmental Age 

(c) Learning 

(d) Individual Differences 

(e) Pre natal period 
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3. 	Write short notes on any four of the following : 
5x4=20 

(a) What is Clinical Investigation ? 

(b) Write the first aid procedure to be given to 
a person suffering from epilepsy. 

(c) What is cognitive approach of growth and 

development ? 

(d) Importance of Immunization. 

(e) Longitudinal study - Explain. 

4. 	Give elaborate answer on any one of the 

following : 	 10x1=10  

(a) What is growth and development ? 
Describe the principles of development. 

(b) Educational assessment is important for 
preparing an IEP. Explain educational 
assessment and the procedure of educational 

assessment. 

(c) Explain various methods to study the 
behaviour of a child. 
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1. 	-1 4-1 clt.lcl 	FoR-clIrtd .wlf-44 : 
(a) .4-FTI -744.3-TTT. 

(b) LI (T 

(c) 1-84 (t.7.t.i-r.) 

(d)  

(e)  

1x5=5 

2. 	 7izrr Ti--cifwrzff -44 	: 	2x5=10 
(a) aTr-zi qz[1.  t ? 

(b) lclchRilc4ich 3-771 

(c) 3TNTR 

(d) a1tacI 4 ld fi 

(e) A-1-1 	•Wf 
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3. 	f91:f 1:1-{ 4 -i7f faicrufr ----r--  ( w)- wT?) : 	5x4=20 

(a) F-ciralc- -;-k{ ,3-ii-cl a-e-41 t? 

(b) fiml Airt,d - rf-q:ff -- fci 	 erralfi 	t-i -ciR cHl t? 

(c) IfZ ict' f-4-*-74 a-)i 4-11-110-111 OZ-4-cf cHl t ? 

(d) aamb.ot chi 1:1-- 	I 

(e) 3.1-1- z-  34uTziff - 	w1--F-4 1 

	

4. 	f9- q1T-T1-- -5R7 ( 'T71 e't') : 
	 10x1=10 

(a) 1-rZ oaf  a---*-R4 -Tzlit? fq-wmt -RT-4-r 	r -q-aia- 

--r---47 1 

(b) of 1-d,Icl tUr11-1-  cb1451, 4-It' Friturtir- 3Tr-*---o-9-  

-Trvi t.  1 -Nifur 3Tr-*---9.  chl LiRilft17 -WT 

V 	-51-fwzrr chi -- ( --1-F---A7 1 

(c) t .LiciR t 34. zrzr9.  t R.-R -N-117 

fq-Nt cnr -0-1--i ---1-F-41 
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